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B.A./B.Sc. (Part III) Examination
Quantitative Methods
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note -— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. Give answer of the following questions :
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(i)

(i)

(iv)

)

How do you draw a Frequency Polygon ?
MM TH G TgYS HY oA § 2

What is the Asymmetrical Distribution ?
sTefHa fowo #n § 2

Lorenz Curve

SUSECED

What do you mean by Degree of
Correlation ?

Te-Trry &1 feilt ¥ et =0 i ¥ 2

Define Moving Average.
=1 HeF w IR i
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(vi) Define Simultaneous Equation. 4. Find the Standard Deviation of the following

A S S S series :
Marks No. of Students
(vii) Write the definition of Interpolation. 5 4
ST w1 R fafem) 15 6
Section-B 4x14=56 25 10
(Short Answer Type Questions) 35 10
Note :(— Answer any four questions. Each answer should not 45 25
exceed 200 words. Each question carries 14 marks. 55 22
U —d 65 18
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2. “Statistics is a Science.” Explain. =
o v e 1 o § ‘

3. What is meant by Questionnaire ? How is it 45 25
different from the schedule ? 55 27
YIAEE H F AN T 7 I A ¥ HY I 65 18
g2 75 5
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5. What do you mean by Degree of Correlation ?

Te-Hoy i feit ¥ srgent = 1fue § 2

6. Find the regression coefficient from the following

data :
Height of Father
64
65
70
71
73
75
76
78
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7. Prove that :
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=(a-b)(b-c)(c—a)

=(a-b)(b-c)(c—a)
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8. What is the Time Series ? Describe its various parts
and importance.

FHeT AU N § 7 TS fafy= S U9 Hewd o1 U
T |
9. Find the Fisher Ideal Index :

Base Year Current Year

Item
Py Q P Q,

A 3 50 4 60
B 4 150 8 200
C 8 80 9 120
D 7 40 12 60
E 5 50 8 80
RS 1 STeYl oI Tq SIS

MR Tt e o
A P, Q,
A 3 50 4 60
B 4 150 8 200
C 8 80 9 120
D 7 40 12 60
E 5 50 8 80
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